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10 x 2 = 20 A -  

10 (i)  

2 (ii)

(iii)

.1

rms 3 .2

(Magnus effect) .3

.4

.5

hinges .6

Propellers .7

.8

.9
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x A =  .10

P + Q Q = 4i + 4j + 10k P = 2i + 4j + 14k .11

(Precision) (Accuracy) .12

.13

.14

.15

6 x 4 = 24 B -  

 (i)  

4 (ii)

(iii)

v2 t = t v1 t = 0 .16

(v1+v2)/2

9m 9 ms-1 .17

g = 10ms-2 10m

.18

90° .19

.20

.21

.22

.23

.24
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.25

.26

.27

.28

.29

2 x 8 = 16 C -  

(i)  

8 (ii)

(iii)

60oC .30

8 40oC 5 50oC

.31

.32

.33

600 kg 50ms-1 25m

__________________
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